Psychology - Paper - 2 - SET - 1] ODIA MEDIUM]

The appropriate method to study the behaviour of animals and
mental patients.

1. Introspection method
2 Experimental method
3. Longitudinal method
4

Observation method
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The Scientist who stated that the children are born with innate
language abilities.

Skinner
Chomsky
Bandura
Watson
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Not attending to the interview assuming that I will not get the job
because thousands of people are attending to the interview for only
very few jobs, adopted defence mechanism here is

1.

2
3.
4

Withdrawal
Regression
Reversing motive

Sublimation
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A student is able to draw pictures efficiently without any training
because of his.

1.

2
3.
4

Attitude
Aptitude
Interest

Experience
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According to Gardner the intelligence possessed by sports men is.

1. Bodily kinaesthetic intelligence
2. Interpersonal intelligence

3. Naturalistic intelligence

4. Visual spacial intelligence
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The painful emotional state created in a person as a result of
contrasting desires.

1. Conflict

2 Stress

3. Frustration
4

Maladjustment
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According to Erickson High School children face this Psycho social
critical situation .

1. Industry vs Inferiority

2 Initiative vs Guilt

3. Role Identity vs Role confusion
4 Intimacy vs Isolation
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According to Thorndike this part of the brain influences mechanical
intelligence by controlling motor skills of a person.

1. Diencephalon
2 Fore Brain
3. Hind Brain
4 Mid Brain
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10.

In the stages of Human development this stage is called as

‘Adjustment stage'
1. Adulthood
2. Middle age
3. Adolescence
4. Childhood
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The child is habituated to drink milk through feeding bottle. When
offered milk in a tumbler instead of feeding bottle first he tries his
old way of drinking i.e., sucking, afterwards he picks up the new
way of drinking . This cognitive process is called.

1.

2
3.
4

Accommodation
Assimilation
Organization

Equilibrium
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Ramesh has to cross the river and go to neighbouring village to write
exams. One day he is unable to attend the exam due to floods. The
obstacle faced by Ramesh is.

1.

2
3.
4

Social Environment obstacle
Physical obstacle
Physical Environment obstacle

Mental obstacle
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The play in which children do not share their play things but imitate
one another and continue their play is known as.

1.

2
3.
4

Solitary play
Parallel play
Social play
Symbolic play
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14.

Sumanth learnt to play cricket, now he wants to learn computer. The
type of transfer of learning in this context is

1. Positive transfer

2 Negative transfer
3. Zero transfer
4

Bilateral transfer
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Ganesh learnt a list of 25 meaningless words in 20 attempts. After
one month, when he was asked to relearn the same list, he took 14
attempts to learn. Saving score of Ganesh is
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Sumalatha doesn’t know Sanskrit, but she can recite Sanskrit slokas
in Bhagavatgeetha without any mistake. The memory of Sumalatha
IS

1 Passive Memory
2 Rote Memory

3. Logical Memory
4

Sensory Memory
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Direct, Indirect, alternative and self reinforcement were proposed by

1 Bandura
2 Skinner
3. Pavlov

4 Vygotsky
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18.

Author of the book “Animal Intelligence : Experimental Studies”

1
2
3.
4

Thurstone
Skinner
Thorndike
Kohler
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In Pavlov experiment, the dog salivated only for the sound of the
bell for which it was conditioned, but not salivating to other sounds.
This is because of

1.

2.
3.
4.

Stimulus generalization
Stimulus discrimination
Extinction

Higher order conditioning
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20.

The first person who used teaching machines is

1. Pavlov

2. Thorndike
3. Pressey

4. Freud
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Scaffolding means

1 Offering support
2 Prediction

3. Near

4 Making parts
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One of the following is related to psychomotor domain

1. Imitation
2. Analysis
3. Responding
4. Valuing
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The most appropriate meaning of learning is

1 Acquisition of skill

2 Modification of behaviour
3. Personal adjustment
4

Gathering information
TR9'Q A4 AP 28T
1. 6QR AN 2%

2. 2IoQd Jeeee
3. QP00 QUELIRR

4.  Qoyge



In the order of teaching to mentally-retarded, awarding points,
money etc. is regarded as this type of reinforcement.

1 Social

2 Secondary
3. Primary
4

Natural
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During Enquiry based learning, the student

1 Gives importance to product rather than process
2 Depends on teacher to get knowledge

3. Uses inquiry for learning

4 Depends on bookish knowledge
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25.

The correct statement with regard to opinions of Piaget and Bruner

on teaching process is ,

1. Piaget opines that there is no relation between teaching and

maturity of the child

2. Bruner opines maturity of the child is most important for
teaching.
3. Bruner opines that there is no relation between teaching and

maturity of the child

4. There is no difference of opinion between Piaget and Bruner

with regard to teaching and maturity of the child
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According to Bartlet , the leaders who possess special competency in
a particular area and can show impact on a group though they have
no relation with the members of the group are called as

1
2.
3.
4

Experts
Institutional leaders
Dominant leaders
Persuasive leaders
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Right to expression belongs to this category of child rights

1
2
3.
4

Right to participate
Right to Survive
Protection Rights
Right to develop
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29.

As per CCE the teacher responsible to teach Art and culture
education is

1. Language Teacher

2. Mathematics Teacher

3. Physical Education Teacher
4.

Science Teacher
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The following is not the concept of NCF- 2005 with regard to
Languages

1. English should have a place on par with other Indian
languages

Home language is not required

3. Preparation of subject wise dictionaries lessens the burden of
the students.

4. Language is a source for enriching the social life.

QUTI FTLAER QI FISIE AICIFE IR - 2005 Q QG F6% |

1L QY Q0010 QIFIOR R°AURT IV F1 AGFS AR 6QQl
2. 2A8AR QY AFIQNR

3. Q9QIQUe AR g0 @ARIFIQl dnle QU6 Q1Y @de

4. AR R A°UR @ARIER AUV U@ A



30.

The right of Education is

1. related to Access only

2 related to Enrollment and Access only

3. related to Access, Enrollment, Quality and Equity
4

related to Access, Enrollment and Quality only.
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61.

62.

63.

English — Paper —I1 — Set - 1

Hari made an earth- shaking decision.

The synonym of 'earth-shaking' is:
1.  valuable

2 dangerous
3. important
4

small

| finished my dinner. Then my father came.

The above sentences can be combined as:

1. As my father came in, | finished my dinner
2 After my father came, | finished my dinner
3. | finished my dinner, so my father came in
4

My father came in after | had finished my dinner

This is a beautiful story, ....................

Choose the correct question tag to complete this sentence

1 isn't this ?
2 isn'tit ?
3. doesn'tit ?
4

is this ?



64.

65.

66.

67.

The cow gives milk.
The correct "Yes / No' question of this sentence is:

1 Is the cow gives milk ?

2 Does the cow gives milk ?
3. Does the cow give milk ?
4

Did the cow give milk ?

Are you studying .......... for your exams ?

Choose the grammatically correct form of the word to complete the
meaning of the above sentence.

1. Very serious
2 Serious
3. Seriously
4

Seriousness

The contracted form of 'will not' is :

wouldn't
will not ?
won't ?

II'not ?

P w DD

The verb form of 'pretension’ is:

pretende
pretene

preten

P w Do

pretend



68.

69.

70.

71.

If there .......... trees, there would be no life on earth

Choose the grammatically and meaningfully correct expression to

fill in the blank.
1. not were
2. was not
3. were no
4, are no

Raman passed away on November 21, 1970.

The meaning of 'passed away' is:

1.

2
3.
4
Choose the word that means 'the study of the cultures of the past'.

1
2
3.
4

death
killed
was Killed
died

Archaeology
Physiology
Psychology
Geology

Choose the sentence that has a defining relative clause.

A

Hari, who is my friend, has won the prize.
Swathi, who is my daughter, has passed the exam.
Mohan who came from Guntur stood first.

She said that she was good at English.



72.

73.

74.

75.

‘A person who hates women' is:

1 misogynist
2 fatalist

3. monogamy
4

ambiguous

I do not have enough clothes for my journey.

This sentence expresses:

1. capacity

2 inadequacy

3. doubt

4 possibility

He goesto .......... school regularly.

Choose the article that fits the context

a
an
the

A WD

No article is needed.

Seeing the police, the thief ran away.
This sentence is:

1. a compound sentence

2 a conditional sentence

3. a simple sentence
4

a complex sentence



76.  Choose the word with wrong spelling.

1 precocious
2 moustache
3. straight
4

vulger

[ 77-79] — Read the following passage and choose the correct answers to
the questions given after

Journalists argue over functions of a newspaper. | feel that a
provincial paper's purpose is not only to present and project the news
objectively and imaginatively, but to help its readers to express themselves
more articulate their demands. A newspaper should reflect the community
it serves warts and all. When the mirror is held to society it reveals neglect,
injustice, ignorance or complacency. It should help to eradicate them. It
would be pretentious to think that a newspaper can change the course of
world affairs — but at the local limit, it can exert influence, it can probe, it
can help get things done. The individual's voice must not be stifled. Instead,
the reader should be encouraged to express their opinions, fears, hopes and
their grievances on this platform.

77.  The following is the purpose of a newspaper.

To present facts in a blunt way
To encourage the readers to be pretentious

To project news objectively and imaginatively

I

To exert influences on the individuals.



78.

79.

80.

81.

The readers can air their grievances:

1
2
3.
4

by writing to their local newspaper
by writing to local officials
by supporting the local newspaper

by being complacent

Choose the false statement.

P w D

Newspaper should help its readers to express themselves.
Newspapers should reflect the community it serves.
Newspapers should not stifle the individual's voice.

Journalists never argue over the functions of a newspaper.

He is not good. He is not kind.

These two sentences can be combined as:

WD

He is neither good nor kind.
He is not good but kind.
He is good and kind.

He is either good or kind.

Choose the sentence that expresses ability.

el

She can pass the examination.
She will pass the examination.
She may help you.

She should help you.



82.

83.

84.

85.

I had scarcely put the phone down
Choose the correct word to complete the meaning of the sentence

above.

1 later

2 than

3. when

4 then
Choose the word that can be used to write an adverbial clause of
condition:

1 If

2 As

3. Since

4 Because

Choose the correct spelling of the word.

1.
2.
3.
4.

rejuvenate
rijivinate
rijuvenate

rejuvinate

'Syllabification' means:

P w DD

breaking a word into syllables
combining two syllables into one
removing vowel sounds from words

adding a consonant to every syllable

it rang again.



86.

87.

88.

Choose the word that has the stress on the first syllable.

1
2
3.
4

debate
downstairs
vibrate

electrical

The two main types of evaluation are

P w D

syllabus and Curriculum
descriptive and objective
deductive and inductive

formative and summative

Reinforcement is a skill that involves

revision and recognition

recalling and reordering

recapitulation

repetition, summarizing, probing questions, clarification and

illustration.
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90.

(CLT) Communicative Language Teaching believes that

1. Language learning happens best when the atmosphere is

relaxed and learner receives encouragement

2. Language learning happens when the atmosphere is rule
based
3. Language learning happens best when the teacher dominates

the class while teaching.
4. Language learning happens when reading is given top

priority.

The king who commissioned scholars to translate the English Bible
and write it in modern English is

King Herod
King Moses
King Joseph

P w0 DD

King James
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92.

History has been a discipline of study for the past
1.

2
3.
4
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100 years
200 years
300 years
400 years

100 Q¥
200 9
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400 99

Father of History

1. Avristotle

2 Thucydides
3. Hegel

4 Herodotus
QAPRIAQ IR
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The earliest specimen of Harappan script was noticed in the year
1.

2
3.
4
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1.
2.
3.

4.

1851 AD
1852 A.D
1853 A.D
1854 A.D

gf1. 1851
gf1. 1852
gf1. 1853

g[1. 1854

The first popular king of Magadha was

1.

2
3.
4

Ajathasathru
Udayan
Maha Padmananda

Bimbisara
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The city that is nearer to the equator in India
1. Srinagar
Delhi

Banglore

W

Kanya Kumari
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The limitation of per capita income to compare the development of
different countries is that

1 the calculation of per capita income is difficult

2 it does not reveal the disparities among the people
3. it is not useful for comparison
4

it can be valued only in dollars.
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The country that is not a founder member of * NATO’

1. Iceland
2 Spain

3. Poland
4 Turkey
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Identify the wrongly matched pair
1. Social Contract - Roussean
Two Treaties of Government — John Locke

2
3. The Spirit of Laws — Roger Bacon
4

Declaration of American Independence — Thomas Jefferson
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2.  ©00Q 2T 0eded - FRRR
3. @909 T A - 6QI8Q 6269R

4. BQ6QAQ A UCARR QARG - AN 6KTQAQ



99. One of the following is treated as a hurdle to democratic values,

1. Active participation of the citizens is needed.

2. The basic principles of political equality and inclusiveness
should be followed

3. Elections should be conducted in a free and fair atmosphere

4. Voting of aged people is not compulsory.

Qg AIQ FEPIRAR RIERNIG AU
1. QAR AT AGL, 2°FG28 AER *GS

2. QIREFOR ARG, AT FRIR IIRQI AR F6RFINR 16
dIRe @QQI @GR

3. 8 99° 3san G0 6291 @G0

4. 9V QULER 6WCEYR QI ?jﬁqj

100. At the time of fire accident we should not ....

1. make a phone call to 101 and give the address, details of fire
accident

2. hide in a cupboard or under the bed

3. get out of the building/place of accident as soon as possible.

4. switch off all the electrical appliances and turn off the main

switch board.

28 QUCEI ATA6Q 92 KRl A9R

1L 1019909 6TIqaa Oadl , 9uodl Jad 24IRa!
2.  H9e6R @9l AIRAIAIER ROES
3. QAR 99 / 9U6dI 2I9Q §ag ANIRKSl

4. QQIQ IRQ AFRARI Ie° 6610Q IAQ 90 *Qa!



101. An art which is associated with the origin of Veerashaiva movement

102.

in 12" and 13" centuries was
1. Kuchipudi

2 Oggu Katha

3. Tholu Bommalata

4 Burra Katha

1241, 134 SGIR1Q Q1Q6ER CLRR JIRAER 9E A0 FRIQC
1. 9F9%

2. Ggeall

3. Q6 68

4. QoaIeel

The temperature in Delhi at 6.00 AM was —4°C. In the afternoon at
3.00PM it is raised by 10°C. Then temperature at 3.00 PM was

1. 10°C
2 -6°C

3. 4°C

4 6°C

GR16Q ARR B2 Y& AAYEQ —4°C QIAAIG FEAIQ 6LIRYR |

2IQIg GF61 AAACR ARIR Ol YRl 10°C QIAAIQI QR6AUQ
626M , 6QE AR IS S

1. 10°C
2. —6C
3. 4°C
4. 6C



103.

104.

Simla, Bengaluru, Bhopal,New Delhi —
The correct order of the given places from North to South is —

1. New Delhi, Simla, Bengaluru, Bhopal
Simla, New Delhi, Bengaluru, Bhopal

2
3. Simla, New Delhi, Bhopal, Bengaluru
4 New Delhi, Simla, Bhopal, Bengaluru

AR, 6Q6TIQRQ , 6RUAIR , QULGRIQ ARAQ YT FAIEQ ARIAEM
1L QuUER!, AARl, 6QgQQ , 6P
2. QR QUERT, 6QgQQ , 6AUIR
3. QAR QUGRT, QAR ,6QgQQ
4. QUGRT, AR, ERAUAIR 6QFRY

River Volga drains in to the

1. North Sea
2 Caspian Sea
3. Black Sea
4 Baltic Sea

‘ARG 21 G A6 7164
1. Q@99

2. QIde A9

3. Q8999

4.  QINGR A9



105.

106.

The village headman ( Patla) in Gonds acquires his post by
1. winning in election

2 heredity

3. possessing more properties

4

the suggestion of the priest

'6Qlg FIREQ GIFIFHI(QIRR) 991 NEaE JIY 62198

1. 39I096a @04l gIal
2. Q°dIgQes
3. 2R AR Yem

4.  JRIQFIER o160 KRRl QYag

The mightiest Mahajanapada was

1. Vajji

2 Avanti

3. Magadha
4 Matsya

2R 99PN AL
1.  G%(6ue)

2. 2]
3. 2

4. 1y



107.

108.

Political science begins with a state and ends with a state. This
definition was given by

1. R.G. Gettle

2 Stephen Leacock
3. John Richard Seely
4 J.W. Garner

QARG FRIFEA “ AUNAL 2R 621R AFIAL 699 QTN " —
@ QR JaIe @ag6m

1L Q.G 695R

2.  86aq Aeq
3. @q0eeda
4. 69.994.91€q

World’s greatest ‘Political religion’ is

1. Communism
2. Capitalism
3. Dictatorship
4, Democracy

Q2R AR6YT  ARCTOR AU 6208

L ANQIQ
2. J@QIQ
3. NQEQQIQ

4. cleloa



109. The Movement launched by Mahatma Gandhi after the failure of
Cripps Mission.

1. Vandemataram movement

2 Non-Cooperation movement
3. Civil disobedience movement
4

Quit India movement

@9Q FIFQ SIRG! A6Q LIS 2R KRR 2ICRARS
1L Q6RAIPAL 2IERIRS

2. 2LLEdIol 2CLIWe
3. dIRa 2LlaY 2IcRIND

4. QAL 2ICLIWe

110. The Constitutional Article that gives provision for Presidential rule

in a state is
1 324
2 356
3. 314
4 321

QUYAE GIARAR 6IF 6@ ARUFR UIQIT

1. 324
2. 356
3. 314
4. 321



111. When there is general inflation, the whole sale price index will
1. remains constant

2 fluctuates
3. rises rapidly
4

increases slowly

AR I 1G ATAUCIER AR ( 62NEAN) QQ o1
1.  da Q@

2. Q&- Q9 Qe
3. 419 Qf ang

4. UIQRIES QRAIY

112. The formal credits given to the villagers are supervised by

1. NABARD
2 ICICI

3. FICCI

4 IDBI

JIAIERa 6RIAg QKIagel BUCEe Qg NAIEe ALY

QARG |

1.  NABARD
2. ICICI

3.  FICCI

4. 1DBI



113. The reason for Polder agriculture in Holland (The Dutch)
1. Lack of irrigation facilities.
2 Scarcity of agricultural land
3. Less priority to agriculture
4

Less expenditure for Polder agriculture

2MIFYEA CAINGIY 9T FAULAIRQ RIQE-
1L  9R6deRq eI @9

2. Ql9efq Qs @ge @
3. Q39 @f RIS 6923

4. 6UIRGIA QTR YT 920 A7 AT

114. The result of Rakkasi Tangadi war in 1565 A.D was the
1. establishment of Vijayanagara Empire
2 establishment of Nizam Empire
3. destruction of Vijayanagara city
4

expansion of Vijayanagara Empire

1. 1565 6@ ATl AUV GIFFG’ JRQ TRITR
1. FRARTQ A LR

2. QI Ay QAR
3. QeuRdq AlFieY 4°Q
4. QRURIQ AP FAIQ



115.

116.

Most of Ashoka’s inscriptions were in this language
1. Prakrit

2 Sanskrit
3. Telugu
4

Tamil

26SIaE SIAR(IRERS) JERQ UYRd Y@ VR RYe
62

1. g9e
2. Qe
3.  6oq9
4 QIR

Upa Sarpanch of Grampanchayat is elected by
1. All voters of Grampanchayat through direct election

2. Sarpanch and ward members will elect one of them as
Upasarpanch

3. A gentleman of Grampanchayat will be nominated by the
Sarpanch

4. The leader of the defeated party in panchayat elections will be
appointed

QINIDSINeR AT-AQTE Y9R FAIFe 62IReT |

1. JIFQ AFIY 6RTA YERUT FRIPR TRl QIFE |

2. dQQ8 9&° €lg 67gQ 8 6QAIRE P0Q F69 AUAQAS
QIR QTG |

3. dIF16Q qglel QIag QOIS QIS AQUE TR @IS

4. Q5I90 AAORER LAIINYQ! A FINAT AAAATE VU6
QIR |



117. Word ‘ La Stato’ was used for the first time to denote ‘state’ by
1. Machiavelli

2 Aristotle
3. Bluntschilli
4

Jean Bodin

QIR TS QAR ‘Rl 686G (La Stato) 90T JeI6A QYRR

@Gl Q4@
1. AIF2lcRR
2. VSR
3. Q490OR
4. Q19 6QGR
118. The term “Nation” is derived from the Latin word Natio. Which
means
1. country

2 state
3. relationship
4 birth

“Nation” 986 RITQ QISIQ ‘Natio’ S8Q 2ITE ATQ ATIER
‘Natio' §9Q 2l

1. 694
2. QY
3. 999

4. 99



119.

120.

Indian subcontinent is the part of

1.

2
3.
4

Lauransia
Gondwana
Eurasia

Angara Land

RS AIFIAT IE Q-AUTQ 2°FIFECHY

1.

aeaqdell
691GEIQ!
el

AT QT

National Food Security act was made in the year

1.

2
3.
4

2009
2011
2013
2015

FIO1E HIQY oI AR KD 9F

1.

2
3.
4

2009
2011
2013
2015



121. The crop that requires high temperature, high humidity, minimum

100 cm. of annual rainfall is

1 Paddy
2 Tea

3 Wheat
4 Corn

2AGUYD SITAIGI , AR AGS! , AR 100 628 Qe TS
2R UGS TAR

1. Jla
2. Q%I
3. QlL¢l
4. A

122. Evergreen forests belong to this region..
1. Equatorial
2 Mediterranean
3. Moderate
4 Polar

' 5R200 UQENYGR — & 25ea

1. Ggeeas
2. Qe aBR
3. Q0416018

4. 69Q



123. A false statement regarding East India Association was...

124.

1.

2
3.
4

founded by Dadabhai Nauroji
formed to address the issues of India
established in London

established in 1868

A9 ' A% QA& 26QITIAR’ ARG ALY ARYS

1.

2.

3.

4.

N2Iq QIQINIR AIREAIFT VIR SREM |

N2l QIR0R AIAIFER AIEAISH FUTAAR TS
c2IRaM |

2l AGR6Q AIT0 621l |

2l 1868 6Q AIJ2 6RIQM |

Lok Sabha is entitled with more powers than Rajya Sabha because

1.

2
3.
4

Lok Sabha is a permanent house
members of Lok Sabha are elected by people directly.
The leader of Lok Sabha is the Prime Minister.

Lok Sabha has more members.

QARIARIOIQ ERIRARIG YR ZYRIQ Q&S | KIQE]

1.

2.

EmINd@l dl9e 49l |

6RIRARI AQQYCIER CRINE FIQI TR FI6e
62123 |

ERRARR 689G UG 2SS |
ERIRARER YRR AAY QRIG |



125.

126.

Kakatiya rulers often transferred the Nayakas to new places ,because

1.
2.
3.

to get acquainted with all places of kingdom

to save them from public opposition.

to prevent them from declaring themselves as independent
rulers.

to restrict the increase in their wages.

QARG FIARTE QAR FIARAIRT GGG WR QAR
QRS -

1.

2.

3.

4.

6Q7IFF AFIQ AL LIS KRR

6QARIFT 6T FARIGAGR AV FARIAIR

627168 FRURGAR BI6R 6QTSNRAR AT RERRIAIRN
6AFIRE QACI Q& QRAR! REFE 69

The first Law minister of Independent India was

1.

2
3.
4

Sardar Vallabhbhai Patel
Jawaharlal Nehru
Prakasham Pantulu

Dr. B. R. Ambedkar.

AR QAR AS Ja¢l ARa A1

1.

2.

LR FRAIN AR
GRILARIN 676Q
RIS AIZR

@8. 3.2IQ). 26N



127. Adam Smith’s definition to Economics
1. Wealth definition
2 Welfare definition
3. Household definition
4

Growth definition

YA IR APl Fel 69N AR
1. Q@ Gee QR

2. QnUIé 9@e QR

3. Q2 dEQIRql Gae A\l

4. 98 QEe A9l

128. The terms macro and micro economics were used for the first time
by
1. Adam Smith

2 Paul A. Samuelson
3. Ragnar Frish
4 Prof. Marshall

9% 6 g 2IX1E I ASYAUET ML VYS! UIR TR
1. 29988

2. O APINLAR

3. QIR T

4. 96T QISR



129. The sector that offers largest employment opportunities in India is
1. Agriculture
2 Industries
3. Services
4

Information Technology

QAR 2D A°HIR 6NRT FAFYD 6QINAI 685

L. qQF

2. 48

3. 6Qel

4. 99071 99s

130. Countries in Socialist Camp are,
1. Russia, East European Countries, China
2 China, America, Britain
3. Russia, China, India
4

Russia, China, Japan

AIFYQIQ JTOQ 649G

1L QY g9 geaIdia 6a996e ,91]
2. Q1Q 26AaRl, §69Q

3. Q9,91 ,99@

4. Q9,91 Sl



131.

132.

Banks do not pay interest on this deposit accounts
1. Current account

2 Savings bank account

3. Fixed deposit account
4

Recurring deposit account

N2 gRIQ FAIMISI AR UIF 619D g @9 Q1@
1. @604 Hol

2. 6@ QUi SIS

3. 99 @aIeq dial

4. Q@A GAIRS S

Identify the mismatched pair

1. Jyothiba phule — Satya shodhak Samaj

2 Pandit Ramabai Saraswathi — Sarada Sadan

3. Dayananda Saraswathi — Arya Samaj

4 Nizam Alikhan — Muhamadan Anglo Oriental College

a9 O @gal 69186
1. 6RUIGRl gem — AGY 64lIIR AR
2. Q4G QIR AL — JIQQI AGR

3. QUIRQ 99961 — Iy Qe

4. Q0 AQGHIR - ALFQIQ 6] BRICAN YRS



133. 180° East/West longitude is

1. Greenwich Line

2 Indian Standard Meridian
3. International Date Line

4 Equator

180° ga / Q8la @idaIS
1L JReaQ Q@

2. Qo gieIde QIdel
3. 2SO B9 6l

4. Gg6Qs

134. In the Empire of Ashoka the people who were appointed as officials

to solve the conflicts , issues and legal problems were

1 Mahamatras

2 Dhamma Mahamatras
3. Legal Mahamatras
4

Dharma officials

ACAIRT QUMEQ GRIQ , A 9e° ARR AR ATAAWIQ
AARIR QIR FYS 4@

1. QLQIg
2. R ALIAIQ
3. QUIg QLIRIg

4. AR



135. The concept of utility was introduced for the first time by

1. Benham
2 Jevans

3. Boulding
4 Robbins

‘GRS’ UIQEIQ SRS 9FAIeR

1. 6Q]aI7
2. @19rd
3. QoG
4. QQQ

136. Law of Equi Marginal Utility is also called as
1. Gossen’s first law
2 Gossen’s Second law
3. Gossen’s Third law
4

Gossen’s Fourth law

Q6B EIFR YO NUQ F1:l QRILN

1L QleARs 9ar 99
2. QleQARE §o1a 98
3. QleaRw 9ol 49
4. QI6QAR% 992 99



137.

138.

The country that is known as the “Land of midnight Sun”
1. Canada

2 Indonesia

3. Japan

4 Norway

8 2EAIGT) 9IIQ 629’ Q6T URTE 6a4
1. @RI

2. QBaIeRde

3. @ldIQ

4. 9964

The day on which the sunrays fall vertically on equator is
1. 21" June

2 22" March

3. 23" September
4

22" December

QLIRS Y6 QUCR RN AGYQI Q9T
L. ge-21

2. qIg-22

3. 626999-23

4. @6Qq-22



Social methods -Paper - 2 - Set- 1 (Odia Medium)

139. Which of the following are considered as broader perspectives and
guiding principles to the entire Education System.

140.

1.

2
3.
4

Obijectives
Aims
Specification
Skills

Aq1g 8l GEIN1R YRAIR QEERIE 9a° AIdRds ga 8RR 1@l

QoIaq FAIKIRAIER
1. Q6Qd

2. @y

3. Q¥IQQ4

4. 6QlEQ

Identify the correct statement that relates to "nature of curriculum™

1.
2.
3.

Prepared according to classroom

Prepared by supervisors and teachers as an authentic guide.
Elaborative, related to the entire academic activities of
school.

Developed on local specific issues

QIoIFAQ IRNIFY YoIRCIQ! A0K QINT 596 @Q

1.

2.

65411 Q6 QY YIS KL

2T d80l AI9edaq 699 AdIa8e A¢l d9K94
Jge @23

2l 9Rg6 9&° AIRAQ AT KITINRID 2°TRS

AR o7 IRUIQ 60R FRES



141. Formation of National, State advisory committee for protection of
child rights, supervision and grievances is explained in this chapter
of RTE Act-20009.

1. Chapter 4
2. Chapter 5
3. Chapter 7
4, Chapter 6

8¢ 2R A, ANV AREAIT FEAR AFRIS VRN RIS
Q° QIFY YAEQ RUCKAIFNRT GIOQ ARIES RTE Act-2009 Q &

2RIILER AERSY FAUAIQE |

1. I 4
2. 2l 5
3. I 7

4. I 6



142  The areas that support the study of social science as 'integrated and
comprehensive’ in nature are.

1. A comprehensive discussion on Geographical conditions
History, Administration and economical issues.

2. Discussion on political parties, institutions, Elections and
administration of the Government.

3. Analysis on the development of National Income, Banks,
Industries and Agricultural domains.

4. Study the changes in the society through critical and

analytical approaches.

‘AAIRR ARG 2IAR A°26 6 e AVEYY’ WLl *FR AR
ALY 62Q2A| 696

1L 66l69IR? 299, RGLIY, AIA8 ARG 1e° 2Ige JTL
Joea GG 2RISR |

2. QER AR6Fow 9F, AQUR, FAISR 1&° AR SIAR
Q@O 2RISR |

3. QIO Y, UER uegl, g Ie° @F GRld 639
Q684 |

4. AAICRIRAIAR IQ° F6AJEIAR IR AQAAE @R
AAIFER WG IAIRR PR ZUAR |



143. While teaching the unit on ancient civilization its Historical,
Political, Geographical and Literary concepts are discussed. This
type of approach is.

144,

1.

2
3.
4

Correlation approach
Unit approach
Integration approach

Chronological approach

gIo1e ANGIa JAQIR AR 69T YU ALY , AURCFOR |
CRTRQ &gl , AR UG FVLQ AIERIFR! QAL — Y@ QG

26o' |

1.

2.

3.

4.

QAe- A¢ta AAISIE
IR QQIGIET
ALER QIIGE

AAIGAR RIS

The teaching method based on the principle "Learn to live but not
live to learn™.

1.

2
3.
4

Problem solving method
Project method
Discussion method

Supervisory method

' QEQI §¢ @g QEQI QIR FIYRIT ' — 9T g8 QU6 FRQ QIS

VAR ARG

1L QY QRIS ARG
2. Ja9 980

3. RIS AFG

4. AGYELRE ARG



145.

146.

The main objective of Social Science laboratory is

1.

2
3.
4

To provide a laboratory for social sciences also

To preserve the social sciences material carefully in a room.
Utilization of school grants

To make the students understand the Social Science concepts

easily.

ARIFR TRIF DT’ Q S Q8RN

1.

2.

ANIFR FRIS IR 691G AQIVITIQ GGG RS

AR FRIAQ AAG1 / QULRAGIGER IR 6RI0Q16Q
Jole Qgea!

AUIRAY (1R YUK 2GARY WS DR

AT FRIFQ FVAYEY TNANER ARREQ IR
QaQl

One of the following is related to ‘tripolar' education.

1.

2
3.
4

Student, teacher and textbook
Student, teacher and school
Student, teacher and inviting society into school

Student, teacher and Headmaster

QAQ @l G6aQ (tripolar ) SRIQ 22QD

1.

2.

SR FFR 99° AIOIRE
Q121 , TR IQ° SR
Qe , S9e 9e° JQIRAg AIe 2I&a

Q181 , F9e 9e° QIR S8



147.

148.

The main use of reference books

1.

2
3.
4

To expose an issue in different dimensions
To preserve in social studies library
To inculcate book collection habit among children

To conduct summative assessment

‘gder 92 ( 66)9"66)‘@\ QR ) Q €8 RUELI

1.

2.

3.

4.

69N GHAY AAFRER FeR QFERISER FIGR AN
ALIER AI0IFINEQ LAV KA AR

0R 92900 2°ge AIA TAIF 016Q FFIA IR
QYEIIR AR IARIRA! AR

The Comprehensive Evaluation means

1. Assessment of curricular and co-curricular activities
2 Recording marks scored by students

3. Observing the knowledge and skills of students

4 Conducting examinations in regular intervals.
QLUIIR INYIAR ATEM

1. QIOY \Q° ARAIOYI*E FVAGPRR ARRE

2. S81E1 QIREQI NG 6ARER FETIGRRQ

3. JREIE K19 NQ° 6@19RGeY O9Y6QT8 @RSl

4. QP00 AL MRUKER AQIY AARIRA R



149.

150.

Conduct of "Swatcha Bharath” and “Women Empowerment”
activities in schools are related to

1.

2
3.
4

Bringing society into school
To get recognition to teachers and Headmasters
To collect donations from parents

To provide infrastructure facilities to the school

FMYIRLACNITER JARIRG  IRWAL ', * FLR| AILRQE!
AIIFAGLR IR SQULIREIN |

1.

2.

3.

4.

AAIFY ARG 98AQY 2ITAAR
QIR TR 18° FIRAFTA Y9 696 IR
2ERISAT 0IQ 28R 2AFRIR A°YL AN

SMIRAER 65179 9AGQ AR QIR

Children can obtain "Right to live" through;

1.

2
3.
4

Balanced diet
Living with parents
Getting free and quality education

Protection from child abuse

' QEQEQI 2RYFIQ T FIA FGLIER Ll RIS

1.

2.

AYAG 2LIQ VRS
deRlgle Qe Ad QEQ|
IS g A AR

@°Ql, 2AMRLIQ OIQ IR IR



